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Solution to Family Schedule:

The flavor text suggests that you are looking at
a calendar and need to start crossing things off. A
search on the letters in each grid box should show
that they are abbreviations for the names of months
in multiple languages. Only 1 month from each lan-
guage appears in each grid. Those months also ap-
pear in order and form a 3-month triplet. The or-
dering from start to finish is consistent between the
grids. To make it easier to uniquely identify the
months, no twomonths from the same triple occupy
the same column.

Once you crossed off all of the triplets, you are left
with a single box in each grid TRI, MES and TERwhich
gives the answer TRIMESTER.

Congratulations to SmurfBort, M McClain, and jk
for being the first three solvers to submit the correct
answer to last week’s puzzle on our website.

If you enjoy puzzles, we hope you will join us at
the annual Berkeley Mystery Hunt at the end of the
spring semester.

This puzzle is the twelfth in our ongoing
series. Submit your answer on our website
(http://puzzle.berkeley.edu). We will print the
names of the first solvers to submit a correct answer
in next week’s column.

Week 12: Under the Sea
Algae, water lilies, or cattails, e.g. (2 words)

Northernmost ocean
Florida pirate

Fish whose liver is made into oil
Reef material
Flow of water

The study of water at rest
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